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SOLVING EQUATIONS Solve the equation. Check your solution.
24. 75 —29=—15
26.m—30=6—2m
28.2b+ 11 =15—6b
x:’b @4(—1\—“»:—10(\—4)—14.‘
32. —4(3+x)+5=4(x +3)
Pg.53-54

SOLVING EQUATIONS Solve the equation.

@11+ =5 33 [10 —4x| =2
Xz 3-8

36. [8x+ 1| =23

@\%.\—+2| =10

X= 11§

Pg. 45-46

MATCHING INEQUALITIES Match the inequality with its graph.

13.x=4

16. x=4orx < —4

A, s ——— e
-6 -2 0 2 4 6

C.

-6 -4-2 0 2 4 6
E.

14. x <4
17. -4 =

15, —4<x=4
18. x> 4orx=—4

B, e
-6 -4-2 0 2 4 8

D.

-6 -4-2 0 2 4 6
F.

-6 -4-2 0 2 4 6 -6 -4-2 0 2 4 &

SIMPLE INEQUALITIES Solve the inequality. Then graph your solution.

X< 6 26.7-n=19
%«-m@._»,
G (on (9) s

COMPOUND INEQUALITIES Solve the inequality. Then graph your solution.

37. r=T7=11 z,
@121 %> nz3

4B3.x+2=Sorx—4=2
-3
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